
6050 Dublin Boulevard, Dublin, CA. 94568 .Technical Assistance: 925.479.6379 .www.arlenness.com 

20389-I 

 

NESS 7 x 7 RAKED TREE KIT 
Fitment: 2014 and later HD FLT and FLH Models 
Part Number: 20-389 

 

Thank you for purchasing this Arlen Ness, Ent. product. We believe our products are 

the best available and engineered to provide a lifetime of use. Some specific Hand 

tools, Service Manual for your year and Motorcycle model, are all you need to 

complete this installation. Please retain these installation instructions for future 

reference. To ensure proper installation, a qualified motorcycle technician should 

perform the installation.  

 

 

 

 

 

 

 

 

Attention: Do not lower Forks, Standard Fork Legs only! Do not use with Tour pack. On all 

applications, we recommend, using a Goodridge Brake Line Kit. The part number will vary 

based on Handlebar Height, Pullback, and model.  

Steps:  

1. Remove Fairing, Fork, and Tree Assembly, as instructed in 

the Service Manual.  

Bill of Materials:  

 1 – Top Triple Tree  

 1 - Bottom Triple Tree  

 2- 49mm Travel Limiters  

 1-Tube Blue Thread Locker 

 7- 3/8 AN Washers  

 7 – 3/8 -16 x 1 -1/2 “ Socket Head Bolts  

 1 - 20-389  Sheet of Instructions  

 1 - Limit – 1 Travel Limiter Instructions  

 1 – Nacelle I_20-389 – I Template 

 

(Picture #1) 

Shave shaded area 

of the template 

 



6050 Dublin Boulevard, Dublin, CA. 94568 .Technical Assistance: 925.479.6379 .www.arlenness.com 

20389-I 

 

2. Refer to instruction sheet, Limit-I to install Neoprene 

Travel Limiter for your specific Wheel and Fender 

combination. Note: Do not Lower Forks, Standard Fork 

Length only.  

3. 2015 – Up  Road Glide models only: When re-installing 

the Gauge Nacelle, you will need to trim the shaded area 

of the templates on the following page. Pictures shown 

below of template placement. Use the same template 

for both sides of the Nacelle. 

4. Install Forks and Fairing, as instructed in the Service 

Manual. Note: The seven OEM Triple Tree Pinch Bolts are 5/16” diameter. The 20-389 

features 3/8 – 16 Pinch Bolts. Install one 3/8 AN Washer on each bolt, add a drop of blue 

thread locker and install the Seven Pinch Bolts and torque to 25 ft. lbs.   

 

 

 

 

 

 

 

 

(Picture #2) 
Shave shaded area  

 


